IB Math HLL2 Angles in Space

Name

1. Giventheplane x+2y—2z=8 and theline x=¢, y=1-t, z=3+2¢;
a) Find the angle between the plane and the line. b) Find the point of intersection.
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a) Find the angle between two planes.
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IB Math HL.2 The Distance from a Point to a
Plane

1. Find the parametric equations of the line through

A(-1, 2, 3) and B(2, 0, -3). Hence find where this
line meets the plane with equation x — 2y + 3z = 26.
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2. Suppose N is the foot of the normal from A(2, -
1, 3) to the plane x —y + 2z = 27. Find the

coordinates of N, and hence find the shortest .
distance from A to the plane. N
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IB Math HL2 Distance line/line, line/plane, and plane/plane Name

Distance:

EX) GivenPl: —3x+6y+7z= 1 and P2: 6x — 12y 14z =25
a) Show above two planes are parallel /_4
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b) Find the shortest distance between two planes. P 1 // F 2
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EX) a) Find the equation of the plane determined by A (1, -2, 1), B(l, 0, -2) and C (-2, 6, -6).
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b) Show the plane from part a is parallel to the linex —3 = y +3 = —6z — 48. Hence, find the shortes distance from the line to
the plane.
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